Q20. A current 3A is passing a wire and if the resulted magnetic field was 2T.The diameter of
this field will be:
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Q21. Two long, straight, parallel wires separated by a distance of 10 cm; and both are carrying in
the same direction currents 1 A and 2 A respectively. The magnetic force per unit length is:
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Q22. Two cables have the same length and producing the magnetic force. If the first cable 1s
carrying 20A and the second is carrying 100A. The ratio B,/Biis:
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Q23. A solenoid has 100 turns per unit length. If the current was 10 A, then the magnetic field B
1s:
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Q20- The magnetic field due to electric current in a long straight wire having 100 4 and at a
distance of 2 mm is: ‘
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Q21- For a solenoid of » turns per unit length, the magnetic field is proportional to its:
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Q22- When the magnetic force exerted on wire 3 is zero, then the distance x equals:
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~Q23 The magnitude of mtegrﬁtlﬁg ¢ B. ds over a closed path through Wthh electric current I
is passmg equals:- --

| B) u,/1 C) &l D)I/e,

. s lc.hu.“us‘.\d};wuh\.u..n @8l (8 -150 Weber s sbu (i rdas (1 ¢ 32 DA el Giasll (S 1Y) _Y g
Q24- If the magnetic flux though a portion of a closed surface equals -150 Weber, the
magnetic flux through the rest of the surface is: . P :
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Q22- Two long parallel wires separated by 4mm and carry a current of 50 A in opposite
direction. The magnitude of the magnetic field at a midpoint between the two wires 1s:
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Q23- A bar of length 1 m moves on two horizontal frictionless rails as

| shown in the figure. If R=6 Q and a 3 T magnetic field is directed F —\ { F !
perpendicularly into the paper, the applied force required to move the bar %R : \ \,_ "

to the right at a constant speed of 10 m/s equals to:
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Q24- A long solenoid (n = 1200 turns/m) has a current of a 30 4 in its winding. The magnitude of the
resulting magnetic field at the center point on the axis of the solenoid 1s:
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25- The magnetic field at 10 m from a long straight conductor currying 3 A4 is: |
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Q26- If a solenoid of 1 m length, having 30000 rurns, . curries a current of 2 4, the magnetic
field inside it is:
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020, A current 3A is passing a wire and if the resulted magnetic field was 2T. Then the
diameter of this field will be:
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Q21, Two cables have the same diameter. The first one is carrying 20A only, and the second
: : . B, .
onc is carrying 100A. The ratio EL is:
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Q9- If the solenoid has 5 ; The magnetic field inside it 1s:
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Q10 — If the dashed line is in the middle betwe wires, at which point does the

magnetic field vanish?
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